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QUESTION 1

A stateful session bean contains a number of instance variables. The types of instance variables A and B are
serializable. Instance variable B is a complex type which is populated by many business calls, and can, therefore, not be
refilled by the client without starting all over. A helper instance variable C is defined as having a Serializable type, and
can hold all the information which is in variable B. for example, B is of type XML-DOM tree and C of Type String. 

Which two solutions, when combined, maintain the state of the session bean over a passivation and activation by the
container? (Choose two.) 

A. The value of helper variable C is used to create the value of Instance variable B in the beans no-arg constructor. 

B. The value of helper variable C is used to create the value of instance variable B in a @postcreate annotated method. 

C. The value of helper variable C is used to create the value of instance variable B in a @postActivate annotated
method. 

D. Instance variable A must be made null and instance variable B must be converted to a Serializable type and
assigned to another instance variable in a @preDestroy annotated method. 

E. Instance variable A must be defined transient. Instance variable B must be converted to a Serializable type, set to
null, and assigned to the instance variable C in a @PrePassivate annotated method. 

Correct Answer: CE 

 

QUESTION 2

You have been tasked to build a jar file that can be used by a Java SE client to access the remote instance of the
OrderProcessingBean. Given the following design: 

Which classes would need to be included in the client jar file? 

A. B, Order 

B. A, Order 
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C. A, B, Order 

D. A, B, Order, OrderProcessingBean 

Correct Answer: B 

Note: 

*

 An EJB client JAR file is an optional JAR file that can contain all the class files that a client program needs to use the
client view of the enterprise beans that are contained in the EJB JAR file. 

*

 If all your EJBs are in the same EAR then you can use local interfaces, if not you need remote interfaces. 

 

QUESTION 3

Which is a valid use of the EJB 3.x TimerHandle object? 

A. To retrieve all active timers associated with this bean 

B. To adapt EJB 3.x timers to EJB 2.1 and earlier timers 

C. To obtain a seralizable timer handle that may be persisted 

D. To be implemented by EJB classes that are to be registered with the timer service 

Correct Answer: C 

The TimerHandle interface allows the bean provider to obtain a serializable timer handle that may be persisted. 

Since timers are local objects, a timer handle must not be passed through a bean\\'s remote business interface, remote
interface or web service interface. 

Reference: javax.ejb, Interface TimerHandle 

 

QUESTION 4

An enterprise bean has security permissions set up using declarative security features. Under which two conditions can
a client be guaranteed to have permission to invoke a business method on the enterprise bean? (Choose two.) 

A. The Application Assembler has marked the enterprise bean method as unchecked. 

B. The client\\'s principal has been assigned a security role with permission to invoke the method. 

C. The Application Assembler has set the security-identity deployment descriptor to run-as. 

D. The Application Assembler has mapped all security role references using the role-link element. 

Correct Answer: AB 
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QUESTION 5

Suppose an EJB named HelloWorldBean is deployed as a standalone ejb-jar. Assuming the HelloWorldBean is
implemented as follows: 

Which HelloWorldBean methods are accessible by another EJB within the same ejb-jar? 

A. All of the methods declared in HelloWorldBean 

B. All of the methods declared in HelloWorld and HelloWorldBean 

C. All of the public methods declared in HelloWorldBean 

D. All of the public methods declared in HelloWorld and all of the methods declared in HelloWorldBean 

Correct Answer: C 
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